
Qty.

Footboard 1

B

Descriptions

Drawer Slat Support

Bed Rail

D
C

1
2

Headboard Panel
NO.
A

Parts List

1

F

Bed Slat Support

Bed Slat 3Holes

G

3

3

H

Center Slat With 3 Holes 1

I

Drawer 2

J

Hardware Pack 

DescriptionsNO.
1

Qty.

CSK M4 x 32mm

6

3
84

5

1
1

L KEY M4
L KEY M5

JCBC SCREW M6 x 35mm

2
CSK M4 x 16mm

Drawer Slat 

E

1

Page 1 of 6

Bed Slat 2Holes 10K

30

L

Headboard Leg Left (L)
Headboard Leg Right (R)

1
1

3JCBC SCREW M6 x 60mm

FLAT WASHER Ø1
4" x 20mm

SPRING WASHER Ø1
4" 8

8
6
7
8

Slat Cover 1

M

A

C

B

F

G

G

J

K

D

E

N

O

Headboard Support Rail Front 1
Headboard Support Rail Back 1

1

M
L N

O

CSK M4 x 25mm 8

9

Headboard & Footboard

ASSEMBLY INSTRUCTION DESCRIPTION : QUEEN STORAGE  HEADBOAD /
                               FOOTBOARD AND SIDERAIL

 NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE.
              CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.

Drawer Slat Support StopperP 1

I
H

P

MODEL :
C5236A - Q91-2DXX
C5236A - B92-XXXX
C5236A - QXJ-2DXX

REVISION :  C

C5236G - Q91
C5236G - B92
C5236G - QXJ



D

2

Page 2 of 6

STEP 1.1: Attach & tighten the Headboard Leg (B) & (C) to the Headboard (A). Affix Headboard & Headboard Leg using JCBC screw M6 x 35mm (4),
                 Spring Washer (6) ,Flat Washer (7) using L Key (8).

A
C

B

E
D

STEP 1.3

Wood Cleat

2

STEP 1.2

E
Wood Cleat

STEP 1.1

STEP 1.2: Attach Headboard Support Rail Front (D) & affix using CSK Screw M4 x 25mm (2).
STEP 1.3: Followed by Attach Headboard Back Support Rail (E) & affix using CSK Screw M4 x 25mm (2).
                 (Attach at the top of wood cleat as shown in diagram)

D

7
6

4

8

ASSEMBLY INSTRUCTION DESCRIPTION : QUEEN STORAGE  HEADBOAD /
                               FOOTBOARD AND SIDERAIL

 NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE.
              CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.



Page 3 of 6

STEP 2.4: Attach the Drawer Slat (H) each to a Drawer Slat Support (I) and fix with Drawer Slat Support Stopper (P).
STEP 2.5: Fix the Drawer Slat (H) to Bed Rail (G) with CSK M4 x 32mm (3).
STEP 2.6: Move 'T' Runner at Footboard (F) to Drawer Slat (H).

STEP 2.1: Attach the Bed Rail (G) to Headboard Leg.
STEP 2.2: Tighten SCREW on Headboard Leg by using L KEY M5 (9) & repeat the same step on Footboard (F).
STEP 2.3: Move the bed to the desired position.

H

3

STEP 2.5

'T' Runner

'T' Runner

H

I

F

STEP 2.6

G

STEP 2.1

G STEP 2.2

9

ASSEMBLY INSTRUCTION DESCRIPTION : QUEEN STORAGE  HEADBOAD /
                               FOOTBOARD AND SIDERAIL

 NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE.
              CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.

STEP 2.4
P

H
I

P



Page 4 of 6

STEP 3.2:  Tighten 'T' Runner at Footboard (F) to Drawer Slat (H) with CSK M4 x 16mm (1).
STEP 3.1:  Insert Drawer (N) to Footboard (F) until completely closed.

STEP 3.3:  If Drawer (N) does not close properly,adjust the adjuster at the bottom of  Drawer Slat Support (I) up or down until the Drawer (N) closes tightly.

'T' Runner

STEP 3.2

H

1

STEP 3.1

N

G

N

F I

Adjuster

G

ASSEMBLY INSTRUCTION DESCRIPTION : QUEEN STORAGE  HEADBOAD /
                               FOOTBOARD AND SIDERAIL

 NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE.
              CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.

STEP 3.3

P

N

F
I

B



Page 5 of 6

STEP 4.1:  Attach the Center Slat (M), Bed Slat (J) to Bed Slat Support (L).Tighten with JCBC M6 x 60mm (5) by using L KEY M4 (8).
STEP 4.2:   Attach Bed Slat (J) & Bed Slat (K) and tighten to Bed Rail (G) with CSK M4 x 32mm (3).

8

5

M

L

J

3

G

K

STEP 4.1

STEP 4.2

K

J

M
L

L

Adjuster

ASSEMBLY INSTRUCTION DESCRIPTION : QUEEN STORAGE  HEADBOAD /
                               FOOTBOARD AND SIDERAIL

 NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE.
              CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.



Page 6 of 6

STEP 5.1:  Attach the Slat Cover (O) to top Bed Slat (J & K) .
STEP 5.2:  Close the distance Slat Cover (O) to Footboard (F).Tighten Slat Cover (O) to Wood at Footboard (F)
                  with CSK M4 x 16mm (1).

 O

F

O

1

N

STEP 5.1

STEP 5.2

ASSEMBLY INSTRUCTION DESCRIPTION : QUEEN STORAGE  HEADBOAD /
                               FOOTBOARD AND SIDERAIL

 NOTE : MUST TIGHTEN SCREWS PERIODCALLY WITH USE SCREW WILL BECOME LOOSE.
              CHECK TIGHTNESS OF ALL SCREW EVERY 6-8 WEEKS.



Q'té

Pied de lit 1

B

Descriptions

Soutien lattes de tiroirs

Longeron

D
C

1
2

Tête de lit
N°
A

Pièces

1

F

Soutien Lattes 

 Latte 3 trous

G

3

3

H

 Latte Centrale 3 trous 1

I

Tiroir 2

J

1

CSK M4 x 32mm

6

3
84

5

1
1

CLE «L» M4
CLE «L» M5

 VIS JCBC M6 X 35mm

2
CSK M4 x 16mm

Latte tiroirs

E

1

Page 1 sur 6

Latte 2 trous 10K

30

L

Pied de la Tête de Lit Gauche (L)
Pied de la Tête de Lit Droite (R)

1
1

3JCBC VIS M6 X 60mm

RONDELLE PLATE Ø1/4" x 20mm
RONDELLE A RESSORT Ø1/4" 8

8
6
7
8

Cache-Lattes 1

M

A

C

B

F

G

G

J

K

D

E

N

O

Longeron de Tête de Lit Avant 1
Longeron de Tête de Lit Derrière 1

1

M
L N

O

CSK M4 x 25mm 8

9

INSTRUCTIONS D’ASSEMBLAGE DESCRIPTION : TETE DE GRAND LIT A CAISSE DE
                              TIROIRS/ PIED DE LIT &  LONGERONS

REMARQUE : RESERRER LES VIS RÉGULIÈREMENT. À L'USAGE, LES VIS SE DESERRENT.
VÉRIFIER QUE LES VIS SOIENT SERRÉES TOUTES LES 6-8 SEMAINES.

Q'téDescriptionsN°

Paquet de quincaillerie
tête et pied du lit

Butée de soutien lattes aux tiroirs P 1

I

H

P

MODEL :
C5236A - Q91-2DXX
C5236A - B92-XXXX
C5236A - QXJ-2DXX

REVISION :  C

C5236G - Q91
C5236G - B92
C5236G - QXJ



D

2

Page 2 sur 6

ETAPE 1.1 : Attacher et serrer Pied de TDL (B) & ( C) à la Tête de lit (A). Fixer la TDL et Pied de la TDL avec la vis JCBC M6 x 35mm (4),
                       Rondelle à ressort (6), Rondelle plate (7) en utilisant la Clé L (8).

A
C

B

E
D

ETAPE 1.3

Cale en Bois

2

ETAPE 1.2

E
Cale en Bois

ETAPE 1.1

ETAPE 1.2: Attacher Longeron de Tête de Lit Avant (D) & fixer en utilisant Vis CSK M4 x 25mm (2).
ETAPE 1.3: Attacher Longeron de Tête de Lit Derrière (E) & fixer en utilisant Vis CSK M4 x 25mm (2).

D

7
6

4

8

REMARQUE : RESERRER LES VIS RÉGULIÈREMENT. À L'USAGE, LES VIS SE DESERRENT.
VÉRIFIER QUE LES VIS SOIENT SERRÉES TOUTES LES 6-8 SEMAINES.

INSTRUCTIONS D’ASSEMBLAGE DESCRIPTION : TETE DE GRAND LIT A CAISSE DE
                              TIROIRS/ PIED DE LIT &  LONGERONS

(Attacher au dessus de la cale en bois comme indiqué)



Page 3 sur 6

ETAPE 2.4: Attacher chaque Latte de tiroir (H) a un Soutien de lattes de tiroirs (I) et fixer avec Butée de soutien lattes aux tiroirs (P).
ETAPE 2.5: Fixer les Lattes de tiroirs (H) aux Longerons (G) avec CSK M4 x 32mm (3).
ETAPE 2.6: Tourner les Glissières "T" du PDL (F) aux Lattes de tiroirs (H).

ETAPE 2.1: Attacher le Longeron (G) au Pied de la Tête du lit.
ETAPE 2.2: Serrer la VIS au pied de la Tête du lit en utilisant la Clé «L» M5 (9) & répéter pour le Pied de la TDL.
ETAPE 2.3: Déplacer le lit à l'emplacement final souhaité.

H

3

ETAPE 2.5

Glissière «T»

H

I

F

ETAPE 2.6

G

ETAPE 2.1

G ETAPE 2.2

9

REMARQUE : RESERRER LES VIS RÉGULIÈREMENT. À L'USAGE, LES VIS SE DESERRENT.
VÉRIFIER QUE LES VIS SOIENT SERRÉES TOUTES LES 6-8 SEMAINES.

INSTRUCTIONS D’ASSEMBLAGE DESCRIPTION : TETE DE GRAND LIT A CAISSE DE
                              TIROIRS/ PIED DE LIT &  LONGERONS

Glissière «T»

ETAPE 2.4
P

H
I

P



Page 4 sur 6

ETAPE 3.2: Serrer la Glissière "T" sur le Pied de lit (F) aux Lattes de tiroirs (H) en utilisant CSK M4 x 16mm (1).
ETAPE 3.1: Insérer Tiroir (N) complètement dans le Pied du lit (F).

ETAPE 3.3: Si le Tiroir (N) ne ferme pas bien, régler l'adjusteur au fond du Soutien de lattes de tiroirs (I) jusqu'a ce que le Tiroir (N)
                      soit bien en place.

ETAPE 3.2

H

1

ETAPE 3.1

N

G

N

F I

Ajusteur

G

REMARQUE : RESERRER LES VIS RÉGULIÈREMENT. À L'USAGE, LES VIS SE DESERRENT.
VÉRIFIER QUE LES VIS SOIENT SERRÉES TOUTES LES 6-8 SEMAINES.

INSTRUCTIONS D’ASSEMBLAGE DESCRIPTION : TETE DE GRAND LIT A CAISSE DE
                              TIROIRS/ PIED DE LIT &  LONGERONS

Glissière «T»

ETAPE 3.3

P

N

F
I

B



Page 5 sur 6

ETAPE 4.1: Attacher la Latte centrale (M) & les Lattes (J) au Soutien de lattes (L). Serrer avec JCBC M6 x 60mm (5)
                      en utilisant CLE «L» M4 (8).
ETAPE 4.2: Attacher les Lattes (J) & les Lattes (K) aux Longerons (G) en utilisant CSK M4 x 32mm (3).

8

5

M

L

J

3

G

K

ETAPE 4.1

ETAPE 4.2

K

J

M
L

L

Ajusteur

REMARQUE : RESERRER LES VIS RÉGULIÈREMENT. À L'USAGE, LES VIS SE DESERRENT.
VÉRIFIER QUE LES VIS SOIENT SERRÉES TOUTES LES 6-8 SEMAINES.

INSTRUCTIONS D’ASSEMBLAGE DESCRIPTION : TETE DE GRAND LIT A CAISSE DE
                              TIROIRS/ PIED DE LIT &  LONGERONS



Page 6 sur 6

ETAPE 5.1: Attacher le Cache-lattes (O) aux Lattes (J & K).
ETAPE 5.2: Emboiter le Cache-Lattes (O) au Pied de lit (F). Visser le Cache-Lattes (O) au Bois au niveau du Pied de Lit (F)
                      avec CSK M4 x 16mm (1).

 O

F

O

1

N

ETAPE 5.1

ETAPE 5.2

REMARQUE : RESERRER LES VIS RÉGULIÈREMENT. À L'USAGE, LES VIS SE DESERRENT.
VÉRIFIER QUE LES VIS SOIENT SERRÉES TOUTES LES 6-8 SEMAINES.

INSTRUCTIONS D’ASSEMBLAGE DESCRIPTION : TETE DE GRAND LIT A CAISSE DE
                              TIROIRS/ PIED DE LIT &  LONGERONS


